OZ (2) (mod 3)

blocks | defect matrix
G 1 5 42 x 13
2 1 3x2
3 1 3 x2
4 1 3x2
5 0 9721 = Xxo7,¥16
6 0 60751 = Xx53, P21
2.G - 7 5 27 x 8
8 1 3x2




Block 1: | o1 w2 w3 w4 ¥5 Y6 Y71 Ps Yo Y0 P11 P12 P17
11 = X1 1 .
281 = X2 1 .
351 = X3 1 .
352 = X4 1 .
353 = X5 . 1 .
501 = X6 2 . 1
841 = X7 1 1 . 1
842 = X8 1 1 . 1
843 = X9 1 . 1 1 .
1751 = X10 1 . 1
2101 = X11 1 1 . 1
2102 = X12 1 1 . 1
2103 = X13 1 . . 1 . 1
3001 = X14 . 1 1 1 1 1 .
3501 = X15 1 1 .
5251 = X16 . 1 . . . . 1
7001 = X20 2 1 1 1 2 . 1 .
7002 = X21 1 . 1 1 .
7003 = X22 1 . 1 1 .
7004 = X23 1 1 . . 1
8401 = X24 1 1 .
8402 = X25 1 1 .
8403 = X26 . 1 . . 1
10501 = X28 1 . 1 1 .
10502 = X29 1 . 1 1 .
13445 = x32 1 1 1 1 1 1 1 1 1 .
13445 =33 | 1 1 1 1 1 1 1 1 1 .
14001 = x34 2 1 . 1
15751 = X35 2 1 1
15752 = X36 2 1 1
2100, = Y38 1. 1 1 1 1 1 .11
21002 = x39 1 1 . 1 1 1 1 1 . 1
21003 = X40 1 1 1 1 1 1 1 1 .
2240, = Y11 2 1 1 1 . 1
22405 = a3 | . 2 . . . . 1 1 . ) A T |
3200 = x50 | 2 1 1 1 1 1 1 1 2 1 1 1



(Block 1:) | ¢1 w2 @3 @4 5 @6 @7 @8 Yo Y0 P11 P12 P17

40961 = x51 1 2 . . . . 1 2 1 1 1 1 1
4200, =ys2| . 3 1 1 1 . 3 1 1 1 1 1 1
o1 = L ps = 322

w2 = 28;

w9 = 497,
w3 = 351

$10 = 5181
w4 = 3b2

P11 = 5182
w5 = 353

Y12 = 5183
ve = 48 — 1197
o7 = 1471 Y17 1

Block 2: $13 P18
567, =17 | 1 . b1z = 2371
22681 = X44 . 1 Y18 = 631
2835 =x47 | 1 1
Block 3: | v14 19
5672 = X18 1 ) Pia = 2272
2268, = Y45 | . 1 P = 2268
28352 = X48 1 1
Block 4: | p15 29
5673 = X19 1 . Y15 i 5673
22683 = xa6 | - 1 P20 = 22683
28353 = X49 1 1




Block 7: | w22 23 $214 $25 P26 P21 P28 P30
81 = X54 1 .
561 = X55 . 1
1121 = X56 1 .
1601 = X57 . 1 1 .
2241 = X58 . . . 1 .
2242 = X59 . . . . 1 .
4001 = X60 2 1
4481 = X61 1 1 1
5601 = X2 2 1 1 . 1
672, = xe3 | 1 1 1.1 P2 = 8
672 = xeu | 1 1 11 P23 = 561
840, =ves | 1 . . 1 1 1 . P20 = 104
10081 = Y66 2 1 1 P25 = 224
10085 = X67 2 1 1 Pa6 = 224,
10085 = xes | . 2 1 o1 par = 384
14002 = X170 1 2 1 1 1 Y28 = 7921
14003 =y | 1 2 1 11 P30 = 1896
24007 = x72 1 1 1 . 1
28001 = x73 . 2 . 1 1
28002 = X174 2 1 1 1 1 1
28003 = x75 2 1 . 1 1 1 . 1
33601 = X771 2 3 1 1 1 1
35841 = x78 2 3 1 1 . 1 1 1
35845 = X719 2 3 1 1 1 1 1
40962 = xs0 3 3 1 1 2 1 1
42002 = xs1 3 3 1 1 1 2 1 1
56001 = X83 2 3 1 1 1 1 2
Block 8: $29 P31
12961 = xeo | 1 . P20 = 1296,
3240, = 76 | . 1 ps1 = 3240,
45361 = X82 1 1




